EARAROBEEIERT — 2 N— IBISH —F

2019568188 (k) 4EIKR6H

m C2=# ¥5%—M B R
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. R ERRE 128. —4-3- . — 1ERERER] (GR)
7l 7| F—Exr7E it 5 e 1(2_8)3 5-4-3-3 | 38.5 1 :1_328) i
L:a—RK7I7rq~ B:FF370LX2 =SEHNS
s N [EESES :28. == . — &2 ARBEl (KiR)
olgliol ¥ amistn i o4 B 1(218)5 2-2-2-2 | 39.1 2 (5_017) et
RNRIVTSY BTy hATTIA4T B FiL
#o4 | BOB— 1:28.8 1-1-1-1 | 39.8 — | 10 | 506 |FET (KiR)
3lglg|I—/Ft*x 54.0 @ (-5) | BABEEE
RiFL v/ RER BI-—ULT T4 KW @A
— [k i : —3-4- — RSILES] (B%R)
41111 Y2579 7 e 54.0 1('32/%0 Foaa B2 s (4_5‘3 ;H%E
LNy BahTr BTy HRXEt IUALTrF—L
= N LI A4 :29. —~7-6- . — 1EREE— (GR)
5 2| TVITAFERT " 56.0 }72955) et | %80 s g;) 2AA|
74NV KTy Y2 B:X4—bO-L 31 LR
] Tl 20, -5-5- 8] - EmE— OKiR)
6 6| 737K H 6 s 1(12/92)1 6-5-5-4 | 38.8 6 (4238) = A
R:TFRAYIT BTIRYTITU— TIXTT— LI
. ERRE : -9-7- - /\HAZEER (KGR
7155 | 7A VAT Y XL 7 56.0 1(72?:)2 $oTT B ° 5_22) IF#E
R:v07% B:4AVELREY P b N
1 L e : -8-6- - ISR ()
el7lg | RILTIAF 0 LI o 1(52/%3 7-8-8-8 | 38.3 7 (4_513; e
R:TFATL XA L BRFTUX RIS e
— N FER :29. -9-9- . — #HER (KR)
9 4 ESKRIEYT RN — #o11 5% 1(229)6 9-9-9-9 |38.3 4 422)6 e
L:T7htEy b By by FRE%S
. = # o7 | BAK 1:32.1 4-5-9-10 |41.2| — 9 464 | EREHBLE (M)
10EY 3| 717777 14— 755.0 (51%) w2 | @) ) PN
L:hT74=2T B:RT7EX B s
® 1—F—@EBIERL
1T=7r= 9,10,1,3,7,6,(2,8), (4,5)
2a=5"= 9,10,1,7,(3,6),2,8, (4,5)
33—7— |9,10,7,1,6,2,5,8,(3,4)
40—F— 9,10,7,(1,6),2,5,8,4,3
[ /N
B 7 210H 74K 7-10 230 B 7-8 4204 JEE 7-9-10 3,860
B B 7 1204 7-9 1,260 B & 7-10 560M JEE 7-10-9 13,620M
10 1509 9-10 1,410 B E 7-10 720M
9 510

ABTICOVTRDTEEERROODE, JHB LS,




